NOTES SERIES

Real Numbers

Q.1. Identity each of the following as a
rational or irrational number
Ans.
(i) 2.353535 R
Rational number N N
(i) 0.6 1
Rational number (iii) 4=
(i) 2236067 3
Irrational number —+——— 1+ t i!:g >
(v) 7 . 1
Irrational number (iv) _27
(V) € < |||n|T| | } 1 . ! ‘}-
Irrational number T BLi o= 3
(vi) T 5
Irrational number V) =
N 8
(V”) 5+\/ﬁ & 1 | |111ml| 1 S
Irrational N N A L
(viii)  +3++13 ! 3
. (vi) 2—
Irrational 4 "
I~ —
Rational Q.3.  Express the following as a rational
(X) (Z—ﬁ)(2+ﬁ) number E where p and q are integers
Rational and g=0:
Q.2. Represent the following number on Q) 04
number line Ans: '
Ans ) -
o Let x=04
M 2 X =0.4444. . (i)
By using Pythagoras theorem Multiply by 10 on both side
2 N2 2 10xx =10x0.4444...
(*/5) =(1) +(1) 10x = 4.4444... __ (ii)
2-1+1 Subtracting (i) and from (ii)
2_9 10X — x = 4.4444...—0.4444...
- 9x=4
< } } A< _4,"'; " > x=g which is a rational number.
-3 -2 =1 [H I 1
i 3 (i 037
By Pythagoras theorem ns: .
y 3; g o Let x=0.373737... (i)
(V2) =) +() Multiply by 100 on both side
100x x =100x0.373737...
2=1+1 100x =37.373737... (ii)
2=2 Subtract (i) from (ii)
2 2 2 100x —x=37.373737...—0.373737...
(V3) =(v2) +(1) 99x =37
2ig+l x=% is a rational number
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(iii) 021 Q.6.  Insert two rational between:
Ans: ) Tand:
Let x=0.212121... (i) 3 4
Multiply by 100 on both side Ans:
100x x =100x0.212121... 1% rational number
100x =21.212121... (i) 11 4+3 7
Subtract (i) by (ii) 37T T
100X —x =21.212121...—0.212121... 2" rational number
99x =21 7 1 7+6 13
_2a 24 2474 4 24 24
99 _ To find between value dived by 2
Q.4. Name _the property used in the 7
following: ==+
) 12
(i) (a+4)+b=a+(4+b) 717
Ans:  Associative property w.r.t addition 12 2 24
(i) J2+3=3+2 Required rational numbers between
Ans:  Commutative property w.r.t addition 1 and 1_713
(i)  x=x=0 3 4 24’24
Ans:  Additive inverse property (i) 3and 4
(iv) a(b+c)=ab+ac Ans: b
] T .8 1 3+4=7
/(A\\/f)'lS. ?ﬂr&bj&/e PrEbertupHEI I Iy To find between value divide by 2
Ans:  Additive identity property w.r.t addition e 8 _ i -35
(vi)  100x1=100 2
Ans:  Identity property w.r.t multiplication | It
. (i) —+4|+2
(vii) 4><(5><8)=(4><5)><8 (2 j
Ans:  Associative property w.r.t multiplicative 7 +8 15 1 15
(viii) ab=ba 2 27274
Ans:  Commutative property w.r.t 3 4
multiplicative (iii) s and S
Q.5.  Name the property used in the Ans:
following )
(1) —-3<-1=0<2 ()§ i s+a_1
Ans:  Additive property 5 5 .
- 1 1 To fmd between value divide by 2
(i) If a<b then g>6 7 7 1.7
Ans:  Reciprocal property 5 5 2710
(iii) If a<b then a+c<b+c (ii) =15
Ans:  Additive property
(iv) If ac<bc and ¢>0 then a<b 7+8 15 _3
Ans:  Multiplicative property 10 10 2
(v) If ac<bc and c<0 then a>b
Ans:  Multiplicative property
(vi) Either a>b or a=b or a<b
Ans:  Trichotomy property
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